Property with a maximum but no minimum cardinality

A has b B

0.3

Showing the cardinality 0..3, the 0 means no minimum.

Note the SubClassOf(:A ObjectMaxCardinality(3 :hasB)). This is important, because the cardinality is actually exported and noted in the OWL ontology. In
previous versions, this was not supported.

Ont ol ogy(<http://exanpl e. cont ont ol ogy/ Unnaned>
Annot ati on(rdfs:|abel "Exanple"~"xsd:string)

Decl aration(C ass(:A))
Decl aration(C ass(:B))
Decl ar ati on( Obj ect Property(: hasB))

# bj ect Properties

# Object Property: :hasB (has b)
Annot ati onAssertion(rdfs:label :hasB "has b"~"xsd:string)

oj ect PropertyDonai n(: hasB : A)
bj ect PropertyRange(: hasB : B)

HHHHHH
# Cl asses

HHHHHH SR
# Cass: (A (:A

SubCl assOf (: A Obj ect MaxCardinality(3 :hasB))
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